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qm

=

;=

ljBfno K|ff=lj= lg =df = lj= df = lj=

b/jlGb /fxt hDdf yk ug{‘ 

kg{]

b/jlGb /fxt hDdf yk ug{‘ 

kg{]

b/jlGb /fxt hDdf yk ug{‘ 

kg{]

& >L sflnsf

cf=lj=l8Ëf

4 0 4 0 0 2 2 1 0 0 0 0

* >L lqe'jg cflj

l/;fË

5 0 5 0 1 3 4 0 0 0 0 0

( >L /fdhfgsL

k|f=lj=Op/L

2 1 3 0 1 3 4 0 0 0 0 0

!) >L lbk]Gb| k|f lj

/fjtufp

5 0 5 0 0 0 0 0 0 0 0 0

!! >L a|x\dfkfvf k|flj

d}b]

2 1 3 0 0 0 0 0 0 0 0 0

!@ >L ;'o{bo k|f=lj=

3f]ong]6f

2 0 2 0 0 0 0 0 0 0 0 0
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ljBfno K|ff=lj= lg =df = lj= df = lj=

b/jlGb /fxt hDdf yk ug{‘ 

kg{]

b/jlGb /fxt hDdf yk ug{‘ 

kg{]

b/jlGb /fxt hDdf yk

kg{]

! >L lq p dflj vn+uf
0 0 0 0 5 0 5 0 7 0 7 4

@ >L lzj dflj

sfn]ufp

2 0 2 0 5 0 5 0 1 0 1 2

# >L e]/L lqj]0ffL 

df=lj=l/Dgf

3 1 4 0 0 1 1 2 0 0 0 3

$ >L z+s/ ejg

df=lj=jfx‘gyfgf

4 0 4 0 3 1 4 0 1 3 4 0

% >L a‘l4 cf=lj=jf]x/f
4 0 4 0 0 2 2 1 0 0 0 0

^ >L jfu]Zj/L 

cf=lj=lkk]

4 0 4 0 2 2 1 0 0 0 0 0
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ljBfno K|ff=lj= lg =df = lj= df = lj=

b/jlGb /fxt hDdf yk ug{‘ 

kg{]

b/jlGb /fxt hDdf yk ug{‘ 

kg{]

b/jlGb /fxt hDdf yk ug{‘ 

kg{]

!# >L dx]Gb|

k|f=lj=/fª;L 

3 0 3 0 0 0 0 0 0 0 0 0

!$ >L g]=/f=k|f=lj=ltldn]
2 1 3 0 0 0 0 0 0 0 0

!% >L hgtf

k|f=lj=kf]v/f

3 1 4 0 0 0 0 0 0 0 0 0

!^ >L lji0f' 

k|f=lj=bf/g]6f

2 1 3 0 0 0 0 0 0 0 0 0

!& >L hgtf

k|f=lj=k'/fgf] l/;fË

0 2 2 0 0 0 0 0 0 0 0 0

!* >L g/Hof]tL

k|f=lj=sNof0fk'/

2 0 2 0 0 0 0 0 0 0 0 0
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ljBfno K|ff=lj= lg =df = lj= df = lj=

b/jlGb /fxt hDdf yk ug{‘ 

kg{]

b/jlGb /fxt hDdf yk ug{‘ 

kg{]

b/jlGb /fxt hDdf yk

kg{]

!( >L ljho k|f=lj=:ofFnf 2 2 4 0 0 0 0 0 0 0 0 0

@) >L e]/L k|f=lj=/fgfufpF 4 0 4 0 0 0 0 0 0 0 0 0

@! >L xg'dfg k|f=lj=yfKn] 4 0 4 0 0 0 0 0 0 0 0 0

@@ >L ho u'?s'n yfKn] 0 0 0 0 0 0 0 0 0 0 0 0

@# >L ;/:jtL df=lj=k'Gdf 4 0 4 0 3 1 4 0 2 2 4 0

@$ >L ;'o{Hof]tL cf=lj= 

ldYofË|f

3 0 3 3 0 0 0 0 0 0 0 0
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ljBfno K|ff=lj= lg =df = lj= df = lj=

b/jlGb /f

x

t

hDdf yk ug{‘ 

kg{]

b/jlGb /fxt hDdf yk ug{‘ 

kg{]

b/jlGb /fxt hDdf yk

kg{]

@% >L rGb|Hof]tL

k|f=lj=bf]sfg

3 1 4 0 0 2 2 1 0 0 0 0

@^ >L afnHof]tL

k|f=lj=u}/LufpF

0 2 2 0 0 0 0 0 0 0 0 0

@& >L afnHof]tL

k|f=lj=j8fcf}n

0 0 0 0 0 0 0 0 0 0 0 0

@* >L ;Ldf k|f=lj=8f}/Lvf]nf 0 2 2 2 0 0 0 0 0 0 0 0

@( >L lbk]Gb| df=lj e'/ 0 0 0 0 3 1 4 0 0 2 2 4

#) >L e}/j cf=lj=e'/rf}/ 3 0 3 1 0 1 1 2 0 0 0 0
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ljBfno K|ff=lj= lg =df = lj= df = lj=

b/jlGb /fxt hDdf yk ug{‘ 

kg{]

b/jlGb /fxt hDdf yk ug{‘ 

kg{]

b/jlGb /fxt hDdf yk

kg{]

#! >L g]kfn /fli6«o

cf=lj=kf}/L

3 1 4 0 0 0 0 3 0 0 0 0

#@ >L ;'o{Hof]tL

k|f=lj=3f]/g]6f

2 0 2 2 0 0 0 0 0 0 0 0

## >L lzjzlQm

k|f=lj=nfdfsfl6of

3 1 4 0 0 0 0 0 0 0 0 0

#$ >L hgtf k|f=lj=k;]{gL 0 2 2 2 0 0 0 0 0 0 0 0

#% >L b'uf{ k|f=lj=g'jfufpF 2 1 3 1 0 0 0 0 0 0 0 0

#^ >L afn k|f=lj=cfnL 0 1 1 1 0 0 0 0 0 0 0 0
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ljBfno K|ff=lj= lg =df = lj= df = lj=

b/jlGb /fxt hDdf yk ug{‘ 

kg{]

b/jlGb /fxt hDdf yk ug{‘ 

kg{]

b/jlGb /fxt hDdf yk

kg{]

#& >L di6f cf=lj=ludf 2 2 4 0 0 0 0 3

#* >L lzjz+s/ dflj

hultk'/

5 0 5 0 3 1 4 0 1 3 4 ±0

#( >L eujtL df=lj=s'b' 5 0 5 0 0 2 2 1 0 0 0 3

$) >L rt'{dfnf k|f=lj d6]nf 4 0 4 0 0 0 0 0 0 0 0 0

$! >L ljZj k|f=lj=/ftfrf}/ 0 2 2 2 0 0 0 0 0 0 0 0

$@ >L yk'{8fF8f 

k|f=lj=;fnLlj;f}gf

2 0 2 2 0 0 0 0 0 0 0 0
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ljBfno K|ff=lj= lg =df = lj= df = lj=

b/jlGb /fxt hDdf yk ug{‘ 

kg{]

b/jlGb /fxt hDdf yk ug{‘ 

kg{]

b/jlGb /fxt hDdf yk

kg{]

$# >L g]=/f=k|f=lj=wfO/f 2 0 2 2 0 0 0 0 0 0 0 0

$$ >L b'uf{

cf=lj=dxtf/fufpF

2 1 3 1 0 0 0 3 0 0 0 0

$% >L hgHof]tL

k|f=lj=sl/ufpF

0 2 2 0 0 0 0 0 0 0 0 0

$^ >L afn k|f=lj=s':t/f 1 2 3 1 0 0 0 0 0 0 0 0

$& >L nIdL df=lj=e]/] 4 1 5 0 0 1 1 2 0 0 0 3

$* >L eutL cf=lj=u+ul6of 2 3 5 0 0 0 0 3 0 0 0 0
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ljBfno K|ff=lj= lg =df = lj= df = lj=

b/jlGb /fxt hDdf yk ug{‘ 

kg{]

b/jlGb /fxt hDdf yk ug{‘ 

kg{]

b/jlGb /fxt hDdf yk

kg{]

$( >L g]=/f=cf=lj=;fN6fs'/f 2 1 3 1 0 0 0 3 0 0 0 0

%) >L 1fgf]bo k|f=lj=Oj/ 3 1 4 0 0 0 0 0 0 0 0 0

%! >L ljho

df=lj=sfkmnrf}/

4 0 4 0 3 1 4 0 1 3 4 0

%@ >L 1fgs'~h k|f=lj=a'?Ë] 0 0 0 2 0 0 0 0 0 0 0 0

%# >L hgljsf; cf=lj=j'?Ë] 3 0 3 1 0 0 0 3 0 0 0 0
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